EHHARER TR

B
=

x®

Bl

fits &

IZRHAEVEDOHHEDE

JEOS5E—F (g/kWh)

"%

BE-BR BHH HEERAR-BHX REICHRLIEE

co NMHC NOx PM
=% PDG—FE71BD SESFYUE—20 M-4M42T3PDG 1TEEEN FIRME10%ERL NI 0.48 0.09 1.9 0.010
=% PDG—FE70B SESFYUE—20 M-4M42T3PDG 1TEEEN FIRME10%ERL NI 0.48 0.09 1.9 0.010
=% PDG—FE72B SESFYUE—20 M-4M42T3PDG 1TEEEN FIRME10%ERL NI 0.48 0.09 1.9 0.010
=% PDG—FE82B SESFYUE—2004F M-4M42T3PDG 1TEEEN FIRME10%ERL NI 0.48 0.09 1.9 0.010
—a _ AZE53F v 4—20 B s 4o O] A
=% PDG—FE73B S E5% v 8—30 M-4M42T3PDG 1TEEER TFIRME10%ERFEL NI 0.48 0.09 1.9 0.010
=% PDG—FE74BV AZF53Fv24—20 M-4M42T3PDG 1TEEEN FIRME10%ERL NI 0.48 0.09 1.9 0.010
—u _ AZT53F v 4—20 _ s 2 Op | A
=% PDG—FE71DD S E5% v 8—30 M—4M50T4PDG 1TEEER TFIRME10%EREL NI 0.58 0.11 1.9 0.010
—u _ AZE53F v 4—20 _ s s 2 Op | A
=% PDG—FE70D 3 E5% v 8—30 M—4M50T4PDG 1TEEER TFIRME10%EREL NI 0.58 0.11 1.9 0.010
—u _ AT53F v 4—20 _ s 2 Op | A
=% PDG—FE72D S E5% 0o 8—30 M—4M50T4PDG 1TEEERTFIRME10%EREL NIL 0.58 0.11 1.9 0.010
—z _ SAEIFYE—20T 1K M—4M50T4PDG st g A
=% PDG—FES82D N E 5% A—30T (R M—4M50T5PDG 1TEREEN TFRYE10%EHL NIV 0.58 0.11 1.9 0.010
=% PDG—FE73BN AZF53F v 4—20 M-4M42T3PDG 1TEEEMFIKYE10%IEREL )L 0.48 0.09 1.9 0.010
—u _ AZE53F v 4—20 _ s g [
=% PDG—FE73D S E5% 0o —30 M—4M50T4PDG 1TEEER TFIRME10%EREL NI 0.58 0.11 1.9 0.010
—z _ ASAEIFYE—20T 4K M—4M50T4PDG st g A
=% PDG—FES83D N E 5% A—30T (K M—4M50T5PDG 1TEREER TFRYE10%EHL NIV 0.58 0.11 1.9 0.010
—u _ ATE53F v 4—20 _ s g Op | A
=% PDG—FE74DV S E5% 0o —30 M—4M50T4PDG 1TEEER TFIRME10%EREL NI 0.58 0.11 1.9 0.010
—z _ ASAEIFYE—20T 4K M—4M50T4PDG st 2 g A
=% PDG—FES84DV N E 5% A—30T AR M—4M50T5PDG 1TEREER TFRYE10%EHL NIV 0.58 0.11 1.9 0.010




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh) =
BHg B BA EEAW-BRK BEICRLIESE
co NMHC NOx PM

=% PDG—FE78DV '§‘%fﬁ""9_20 M—4M50T4PDG 1TEEEMFRYE10%ERLAIL 0.58 0.11 1.9 0.010
- AFEIFHE—30 = ) _ . _
— _ AEIFYE—20T 4K M—4M50T4PDG st g O A
=% PDG—FE88DV N E 5% A—30T AR M—4M50TSPDG 1TEREER FRYE10%EHL NIV 0.58 0.11 1.9 0.010
=% PDG—FE73DN '§‘%fﬁ""9_2° M—4M50T4PDG 1TEEEMFRYE10%ERLANIL 0.58 0.11 1.9 0.010
- AFIFHLE—30 = ) _ . _

AESF VY3200 4K _
=% PDG—FES3DN SESXYA—30T AR M—4M50T4PDG TR TR 10%IEFL AL 0.58 0.11 19 0.010

NIy, . M—4M50T5PDG

SEI3F v A—35T AR
=% PDG—FE73DX SFIF¥YA—35 M—4M50T4PDG 1TEEENFRME10%ERLNIL 0.58 0.11 1.9 0.010
=% PDG—FE73DY SEIFrL I35 M—4M50T4PDG TR FARYE 10%IEFL AL 0.58 011 19 0010
- AFEIFALE—40 = ) _ . _

AESF v 3—=35TAF _
=% PDG—FES3DY SESX Y A—40TAR M—4MS0T4PDG 1T R TR 10%IEFL AL 0.58 0.11 19 0.010

N . M—4M50T5PDG

SEIF Y A—45T AR
=% PDG—FE83DZ SEIFYA—45TAR M—4M50T5PDG 1TEEERMFIRYME10%ERL L 0.58 0.11 1.9 0.010
=% PDG—FB70B SEIF XY A—H Y15 M-4M42T1PDG 1TEEENFRIE10%ERLNIL 0.48 0.09 1.9 0.010
=% PDG—FD70B ,5\%—)#«'4;\/9[)—73 UI15 M-4M42T1PDG TEREER FIRYE10%IERHL L 048 0.09 1.9 0.010
=% PDG—FF83DY SEIFHYA—A5TAR M-4M50T5PDG 1TEEERMFRYME10%ERL L 0.58 0.11 1.9 0.010
=% PCG—FE73B SFIFHYA—20 M-4M42T2PCG 1TEEEMFRIE10%ERELNIL 0.66 0.11 1.9 0.017
=% PCG—FE84B SEIFHYA—30TAF M-4M42T2PCG 1TEEEMFRIE10%ERELIL 0.66 0.11 1.9 0.017
=% PCG—FE74BvV SEIFHYA—20 M-4M42T2PCG 1TEEEMFRIE10%ERLIL 0.66 0.11 1.9 0.017
=% PCG—FE74B SFIFHYA—30 M-4M42T2PCG 1TEEEMFRIE10%ERLNIL 0.66 0.11 1.9 0.017
=% BDG-FP50JX AFS M-6M70T1BDG ! mg"ﬁgiﬁf’%;{a%”ﬂ*%% 0% 0.38 0.10 1.6 0.020




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh)

"%

M-6M70T4BDG

ERELANIL

BHE-BR ERA HEELM-BRK REICRDELE
co NMHC NOx PM
M-6M70T1BDG ; = e
BDG-FU50JX A5 M-6M70T2BDG 17$£‘E§$E§é§;{%ﬁ”ﬁ*%§w% 0.38 0.10 16 0.020
M-6M70T3BDG e
~ < 2= M-6M70T2BDG TEREZRREMRTHFRYE10%
BDG-FU50JY AFS M-6M70T3BDG ERLAL 0.38 0.10 16 0.020
M-6M70T1BDG
~ 2= M-6M70T2BDG TEEEZRRAEMBR UM FRME10%
BDG-FU50JZ AFS M-6M70T3BDG ERLAIL 0.38 0.10 16 0.020
M-6M70T4BDG
~ < 2= M-6M70T2BDG TEREZRHREMRTHFRYE10%
BDG-FU54JY AFS M-6M70T3BDG ERLAL 0.38 0.10 16 0.020
M-6M70T1BDG
~ 2= M-6M70T2BDG TEEEZRRAEMR UM FRME10%
BDG-FU54JZ AFS M-6M70T3BDG ERLAIL 0.38 0.10 16 0.020
M-6M70T4BDG
M-6M70T2BDG ; = e
BDG-FU55JZ AFS M-6M70T3BDG 17¢’E‘E§§E§éﬁﬁb§ffﬂﬁ*m§1°% 0.38 0.10 16 0.020
M-6M70T4BDG e
BDG-FY50JX AFS M-6M70T1BDG 17&’5"%5%@%%{&%”%%%%0% 0.38 0.10 16 0.020
. o= M-6M70T2BDG 1TEEEZRRIEYMRURFRIE10%
BDG-FY50JY AFS M-6M70T3BDG ERHLAL 0.38 0.10 16 0.020
BDG-FY54JX AFS M-6M70T1BDG 17&’5"%5%@%%{&%”%%%%0% 0.38 0.10 16 0.020
~ < 2= M-6M70T2BDG TEREZRHREMRTHFRYME10%
BDG-FY54JY AFS M-6M70T3BDG ERLAL 0.38 0.10 16 0.020
M-6M70T1BDG
. o= M-6M70T2BDG 1TEEEZRRIEYMRURFRYIE10%
BDG-FV50JX AFS M-6M70T3BDG ERLAIL 0.38 0.10 16 0.020
M-6M70T4BDG
M-6M70T2BDG ; = e
=% BDG-FV50JY AFS M-6M70T3BDG 17¢§$§§E§é§;@b&?ﬁ”ﬁ*%§m% 0.38 0.10 16 0.020
M-6M70T4BDG ke
=% BDG-FV50JZ 575 M-6M70T3BDG 1TEEEZRRIEYMRURFRYIE10% 0.38 0.10 18 0.020




2
fits

EIZRIBENEDHHEDE

JEOSE—F (g/kWh)

"%

BHE R B4 EELH-BK REICRIEE
co NMHC NOx PM
e ~ s z= M-6M70T3BDG TEREEZRRIEMR UM FRYE10%
=% BDG-FV54JZ AFD M-6M70T4BDG L AL 0.38 0.10 16 0.020
e ~ s z= M-6M70T3BDG TEREEZRRIEMR UM FRYE10%
=% BDG-FV55JZ AFD M-6M70T4BDG R AIL 0.38 0.10 16 0.020
=% BDG-FS50JX 55 M-6M70T2BDG 17$§"E§$E§é§${a%”ﬂﬁ%§w% 0.38 0.10 16 0.020
M-6M70T2BDG ; e e
=% BDG-FS50JY 55 M-6M70T3BDG 17$§‘E§$E§é\%{%ﬁ”ﬁ*%§w% 0.38 0.10 16 0.020
M-6M70T4BDG e
M-6M70T2BDG ; e e
=% BDG-FS50JZ 5ES M-6M70T3BDG 17$§‘E§$E§é\%{%ﬁ”ﬁ*%§m% 0.38 0.10 16 0.020
M-6M70T4BDG e
=% BDG-FS54JX AFD M-6M70T2BDG 17&5&2*%&%{&%”“*%%0% 0.38 0.10 16 0.020
. ~ s z= M-6M70T2BDG TEREEZRBRIEMR UM FRYE10%
=% BDG-FS54JY AFD DS gy B AL 0.38 0.10 16 0.020
M-6M70T2BDG ; e e
=% BDG-FS54JZ AFD M-6M70T3BDG 17&5&2?%@%%{&%”%&%%0% 0.38 0.10 16 0.020
M-6M70T4BDG e
=% BDG-FS55JY AFD M-6M70T3BDG 17&5&3*%&%{&%”“*%%0% 0.38 0.10 16 0.020
M-6M70T2BDG ; e e
=% BDG-FS55JZ AFD M-6M70T3BDG 17&5&3?%@%%{&%”%&%%0% 0.38 0.10 16 0.020
M-6M70T4BDG e
=% BDG-FV50JYP AFD M-6M70T4BDG 17&5"%3%@%%{&%”%4*%%0% 0.38 0.10 16 0.020
=% BDG-FV50JZP AFD M-6M70T4BDG 17&5"%3%@%%{&%”%4*%%0% 0.38 0.10 16 0.020
M-6M70T1BDG ; e e
=% BDG-FT50JX AFD M-6M70T2BDG 17&5&3?%@%%@&&%”%&%%0% 0.38 0.10 16 0.020
M-6M70T3BDG e
e ~ s 2= M-6M70T1BDG TEREEZRRIEMBR UM FRYE10%
=% BDG-FT50JY ) M-6M70T2BDG BRIl 0.38 0.10 16 0.020




2
fits

EIZRIBENEDHHEDE

JEOSE—F (g/kWh)

"%

BHE-BR AR HBEAH-BK REICHRIELE

co NMHC NOXx PM
_— . 2= M-6M70T2BDG 1TEEEZRRIEMRUMTIKME10%
=% BDG-FT50JZ A%FS M-6M70T3BDG ERLAIL 0.38 0.10 16 0.020

M-6M70T1BDG ; g
=% BDG-FT54JX 5% M-6M70T2BDG | mg‘ﬁg?ﬁ%%é%{a%”ﬁkm@ 0%| (38 0.10 16 0.020
M-6M70T3BDG ”

e ~ s z= M-6M70T1BDG TEREEZRBRIEMR UM FRYE10%
=% BDG-FT54JY A%FS M-6M70T2BDG ERLAIL 0.38 0.10 16 0.020
. ~ s 2= M-6M70T2BDG TEREEZRBRIEMR UM FRYE10%
=% BDG-FT54JZ A%FS M-6M70T3BDG ERLAIL 0.38 0.10 16 0.020
=% BDG-FT50JYP S o) M-6M70T4BDG ! mgs‘ﬁg?ﬁ%@%&{a%ﬁﬂﬁ%% 0% 0.38 0.10 1.6 0.020
e ~ s z= M-6M70T3BDG TEREEZRRIEMR UM FRYE10%
=% BDG-FP50JDR A%FS M-6M70T4BDG ERLAIL 0.38 0.10 16 0.020
=% BKG-FP50JDR A%FS M-6M70T5BDG ! mgiﬁgiﬁfgﬂa%ﬁﬂk%@ 0%| 038 0.10 16 0.020
=% BDG-FP50JER AFS M-6M70T4BDG ! mgiﬁgiﬁfgﬂa%ﬁﬂ*%@ 0% g38 0.10 16 0.020
=% BDG-FP50JGR A%FS M-6M70T4BDG ! mgiﬁgiﬁfgﬂa%ﬁﬂ*%@ 0% | 038 0.10 16 0.020
=% BDG-FP54JGR 5E5 m:gm;ggggg 17¢§2E§§%E§$$%ba%ﬁﬂk%§m% 0.38 0.10 18 0.020
=% BKG-FP54JGR A%FS M-6M70T5BDG ! mgs_%g;ﬂ%%@ba%ﬁ;wa@ 0% 038 0.10 16 0.020
=% BDG-FP54JDR T3 m:gm;ggggg 17¢§$§%E§é§$@ba%ﬁ¥ﬁ%§m% 038 0.10 18 0.020
=% BKG-FP54JDR A%FS M-6M70T5BDG ! mgs_%g;ﬂ%%@ba%ﬁ;wa@ 0%| 038 0.10 16 0.020
=% BDG-FP54JER 5Z5 m:gm;ggggg 17¢§$§%E§é§$@ba%ﬁ¥ﬁ%§m% 038 0.10 18 0.020




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh) =
BHg B B4 EEAW-BRK BEICRLIESE
co NMHC NOx PM
P N 2k )
=% BKG-FP5S4JER A5 M-6M70T5BDG | mg‘ﬁg?ﬁ%%é%{a%”ﬁﬂ%@ 0% as 0.10 16 0.020
P N 2k [)
=% BDG-FP55JDR AFS M-6M70T4BDG ! mg‘ﬁggﬁ%%g;{a%”ﬁk%% 0% 0.38 0.10 1.6 0.020
P N 2k [)
=% BKG-FP55JDR AFS M-6M70T5BDG ! mg‘ﬁggﬁ%%g;{a%”ﬁk%% 0% 0.38 0.10 1.6 0.020
P N 2k )
=% BDG-FP55JER AFS M-6M70T4BDG ! mg‘ﬁggﬁ%%g;{a%”ﬁk%% 0% 0.38 0.10 1.6 0.020
=% BKG-FV50JJR AFS M-6M70T5BDG ! mg"ﬁggﬁgﬁf’%&%&%ﬁ”ﬂk%% 0% 0.38 0.10 1.6 0.020
=% BDG-FV50JJR A%ES m:gm;ggggg ! mg;‘ﬁgiﬁf’fg;{a%”ﬂk%% 0% 038 0.10 16 0.020
=% BDG-FW50JY AFS M-6M70T3BDG 17$§"E§§E§éﬁﬁb&%ﬂﬂk%§1 0% 0.38 0.10 1.6 0.020
=% BDG-FR50JX AFS M-6M70T3BDG 1@&%%5%@%%%&538?%%%%1 0% 0.38 0.10 1.6 0.020
=% PDG—BE63DE AFES50—4 M—4M50T4PDG 1TEEEMFRIE10%ERLIL 0.58 0.11 1.9 0.010
=% PDG—BE63DG AZ50—4 m:imgggﬁgg 1TEREEN TFRYE10%EHL NIV 0.58 0.11 19 0.010
=% PDG—BE64DE AFE50—4 M—4M50T4PDG 1TEEEMFRIE10%ERELIL 0.58 0.11 1.9 0.010
=% PDG—BE64DG AFE50—4 M—4M50T5PDG 1TEEEMFRIE10%ERLAIL 0.58 0.11 1.9 0.010
=% PDG—BE64DJ AFE50—4 M—4M50T5PDG 1TEEEMFRIE10%ERLIL 0.48 0.09 1.9 0.010
=% PDG—BE66DG AFE50—4 M—4M50T5PDG 1TEEEMFRIE10%ERLAIL 0.58 0.11 1.9 0.010




REICHRIAEHEDHEEDE
JEOSE—F (g/kWh) =
BHg B B4 EEAW-BRK BEICRLIESE
co NMHC NOx PM
=% PDG—BG64DG AFE50—4 M—4M50T4PDG 1TEEEMFRIE10%ERLIL 0.58 0.11 1.9 0.010
=% PDG—FE71BSD SFIFHYA—20 M-4M42T3PDG 1TEEENMFRIE10%ERLIL 0.48 0.09 1.9 0.010
=% PDG—FE71DSD SEFIFHYA—20 M—4M50T4PDG 1TEEENFRIE10%ERLIL 0.58 0.11 1.9 0.010
=% PDG—FG70DD ng;’;:jg:gg e M—4M50T4PDG 17E R T RDE10%ERL AL 0.58 0.1 1.9 0.010
=% PDG—FG70DSD SFS5FvR—20 4WD M—4M50T4PDG 1TEEERMFIRYME10%ERL L 0.58 0.11 1.9 0.010
=% PDG—FE70BS SEIFHYA—20 M-4M42T3PDG 1TEEENFRIE10%ERLIL 0.48 0.09 1.9 0.010
=% PDG—FE70DS SFIFHYA—20 M—4M50T4PDG 1TEEENFRME10%ERLNIL 0.58 0.11 1.9 0.010
=% PDG—FG70D AESFYHE—20 4WD M—4M50T4PDG 1TERERFRME10%ERL NI 0.58 0.11 1.9 0.010
== SF3F95—30 4WD =l OB : : : :
=% PDG—FG70DS SFS5FyR—20 4WD M—4M50T4PDG 1TEEERMFIRYME10%ERL L 0.58 0.11 1.9 0.010
=% PDG—FE72BS SEIFHYA—20 M-4M42T3PDG 1TEEENFRIE10%ERLNIL 0.48 0.09 1.9 0.010
=% PDG—FE82BS SEIFHYA—20T (4K M-4M42T3PDG 1TEEENFRME10%ERLNIL 0.48 0.09 1.9 0.010
=% PDG—FE74BSV SFIFHYA—20 M-4M42T3PDG 1TEEEMFRIE10%ERLIL 0.48 0.09 1.9 0.010
— _ ASAES3F¥HA—20 4WD _ et e s .
=% PDG—FG73D SNE5% 0830 4WD M—4M50T4PDG 1TEEER TFIRME10%EREL NI 0.58 0.11 1.9 0.010
=% PDG—FG74D AESFYHE—20 4WD M—4M50T4PDG 1TEEEMFRYE10%ERLAIL 0.58 0.11 1.9 0.010
== AF3F958—30 4WD =l Mt : : : :
ASAFESIFFUA—20T (4K 4W
PDG—FG83D D M—4M50T4PDG 1TEEEMFRYE10%ERLARIL 0.58 0.11 1.9 0.010
ASAESXFA—30TAF 4W
PDG—FG84D '5‘%"**"@;20'74" 4w M—4M50T4PDG 1TEEEMFRYE10%ERLAIL 0.58 0.11 1.9 0.010




2
fits

EIZRIBENEDHHEDE

JEOSE—F (g/kWh)

"%

BH-BK B4 HBEAM-BHX AEICHRIEHE
co NMHC NOXx PM
— _ A3%F3T70I—R M—6M70T2BDG | 17THFHEEZRBILMETHFRYIE10%
=% BKG—MS96JP SESTTOo— M—6M70TABDG ERLAIL 0.38 0.10 1.6 0.020
s g ;
=% PKG-AA274KAN — NPKG-MD92TIB 17&%‘;%5 ,ijji%§1 Ok 0.26 0.06 1.9 0.023
S s 2 e !
=% PKG-AA274MAN — NPKG-MD92TIB 17&%‘;%5 ,5?%1 Ok 0.26 0.06 1.9 0.023
s s 2 e ]
=% PKG-AA274PAN — NPKG-MD92TIB 17&%‘;%5 ,5?%1 O 0.26 0.06 1.9 0.023
. ]
=% PKG-AA274TAN — NPKG-MD92TIB 17&%‘;%5 fji%§1 Ok 0.26 0.06 1.9 0.023
=% PDG-FK71F AEITTA5— M-6M60T1PDG 1TEREERNTRME10%EFHL )L 0.31 0.09 19 0013
=% PDG-FK61F SEITTA5— m:gmgggﬁgg 1TEREER FIRYE10%ERHL NIV 0.31 0.09 19 0.013
=% PDG-FK74F AEITTA5— M-6M60T1PDG 1TEEERNTRME10%EFHL )L 0.31 0.09 19 0013
=% PDG-FK64F SEITTA5— m:gmgggﬁgg 1TEREER TFIRYE10%ERHL NIV 0.31 0.09 19 0.013
=% PDG-FK72FY AESIT7A5— M-6M60T1PDG 1TEREERNTRME10%EFHL )L 0.31 0.09 1.9 0013
=% PDG-FK62FY SEITTA5— m:gmgggﬁgg 1TEREER TFRYE10%ERHL NIV 0.31 0.09 19 0.013
=% PDG-FK75FY AESITFA5— M-6M60T1PDG 1TEEERNTRME10%EFHL )L 0.31 0.09 1.9 0013
=% PDG-FK65FY SEITTA5— m:gmgggﬁgg 1TEREER TR E10%ERHL NIV 0.31 0.09 19 0.013
=% PDG-FK72FZ AESIT7A5— M-6M60T1PDG 1TEEERTRME10%EFHL )L 0.31 0.09 1.9 0013
=% PDG-FK62FZ SEITTA5— m:gmgggﬁgg 1TEEER TFRYE10%EHL NIV 0.31 0.09 19 0.013




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh) =
BE-BR BB HEERAR-BHX REICHRLIELE

co NMHC NOx PM
=% PDG-FK75FZ SEST7A3— M-6M60T1PDG 1TEEEM IR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-FK65FZ SESTFA5— m:gmgggﬁgg 1TEREER TIRME10%ERELRIL 0.31 0.09 1.9 0.013
=% PDG-FL63F SESTFA3— M-6M60T1PDG 1TEEEN IR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-FL63FX SESTFA3— M-6M60T1PDG TTEEEN IR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-FM62FZ SEITTA5— m:gmgggﬁgg 1TEREER FRYE10%ERHL NIV 0.31 0.09 19 0.013
=% PDG-FQ62F SEST7AE— M-6M60T2PDG TTEEEN IR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-FK71D SESTFA3— M-4M50T5PDG 1TTEEEM IR E10%IERL )L 0.58 0.11 1.9 0.010
=% PDG-FK7IR SEST7A3— M-4M50T6PDG TTEEEM IR E10%IERL )L 0.70 0.10 1.9 0.010
=% PDG-FK61R SEST7AE— M-4M50T6PDG TTEEEM IR E10%IERL )L 0.70 0.10 1.9 0.010
=% PDG-FK74D SESTFA3— M-4M50T5PDG 1TEEEM IR E10%IERL )L 0.58 0.11 1.9 0.010
=% PDG-FK74R SEST7AE— M-4M50T6PDG TTEEEM IR E10%IERL )L 0.70 0.10 1.9 0.010
=% PDG-FK64R SEST7A— M-4M50T6PDG TTEEEM IR E10%IERL )L 0.70 0.10 1.9 0.010
=% BJG-FE73B AEIFYE—20 M-4M42T2BJG 17¢£$§%E§$¥D&;{fﬁﬂﬂ%§w% 0.26 0.10 1.7 0.010
=% BJG-FE84B AE3FvE—30 M-4M42T2BJG ! mgs‘ﬁg?ﬁ%@’fg&{%ﬁﬁﬂﬁ%% 0% 0.26 0.10 1.7 0.010




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh) =
BHE-BR BEIRA HEELM-BRK REICRDELE
co NMHC NOx PM
=% BJG-FE74BV SE3%A—20 M-4M42T2BJG | mg"ﬁg?ﬁ%%g;{a%”ﬂkm@ 0% 026 0.10 17 0.010
=% BJG-FE74B SAFSFYE—30 M-4M42T2BJG 17&5"%%%@%%%&&%”%%%%0% 0.26 0.10 1.7 0.010
=% PKG-MP35UK ASAFIITARE— M—MD92PKG 1TEEEMFRME10%ERLAIL 0.26 0.06 1.9 0.023
=% PKG-MP35UM AFSIT7HRE— M—MD92PKG 1TEEEMTFRYME10%ERLAIL 0.26 0.06 1.9 0.023
=% PKG-MP35UP AFS5IT7HRE— M—MD92PKG 1TEEEMTFRME10%ERLAIL 0.26 0.06 1.9 0.023
=% BJG-MP37TK SESIFORS— M-4M50T5BJG 17$£§§$E§$§{&%”ﬂ*%§10% 0.31 0.07 17 0.010
=% BJG-MP37TM AESI7ORS— M-4M50T5BJG 17&5‘%%%@%%;{&%”%%%%0% 0.31 0.07 17 0.010
. ]
=% PDG-AA273KAN — NPDG-MD92TIC 17&%‘%‘5 f‘)f’%% 0% 0.26 0.06 19 0.023
T )
=% PDG-AA273MAN — NPDG-MD92TIC 17&%‘%‘5 g?gm 0.26 0.06 19 0.023
s s 2 e !
=% PDG-AA273PAN — NPDG-MD92TIC 17&%‘%‘5 f‘)f’%% 0% 0.26 0.06 1.9 0.023
=% BKG-FU54JZ AFS M—6M70T8BKG 17&5&3*%&%{&2&”“’“%% 0% 0.38 0.10 1.6 0.020
=% BKG-FU55JZ AFS M—6M70T8BKG 17&5&3*%&%{&2@“’“%%1 0% 0.38 0.10 1.6 0.020
=% BKG-FS54JZ AFS M—6M70T8BKG 17&5&3*%&%{&2@“’“%%1 0% 0.38 0.10 1.6 0.020
=% BKG-FS55JZ AFS M—6M70T8BKG 17&5&3*%&%{&2@“’“%%1 0% 0.38 0.10 1.6 0.020
=% PDG-MMY96FH AFS5I7AI—X M—6M60T2PDG 1TEEEMFRME10%ERLIL 0.31 0.09 1.9 0.013




=3

fit

EIZRIBENEDHHEDE

JEOSE—F (g/kWh) =
BE-BR BB HEERAR-BHX REICHRLIELE

co NMHC NOXx PM
=% PDG-AR820GAN — NPDG-6M60TIZ TTEEEN TR E10%IERLNIL 0.31 0.09 1.9 0.013
=% PDG-AR820HAN — NPDG-6M60TIZ TTEEER TR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-AJ820NAN — NPDG-6M60TIZ 1TEEEN IR E10%IERL )L 0.31 0.09 1.9 0.013
=% BKG-MU66JS AFSTI7RFLY M-6M70T4BDG 1TEERE g;ﬁ%%ég;{a%ﬁﬂﬁmgm% 0.38 0.10 1.6 0.020
=% PDG-FK66F SESTFA— M-6M60T1PDG TTEEEN IR E10%IERL )L 0.31 0.09 1.9 0.013
=% PDG-FK66R SESTFA— M-4M50T6PDG TTEEEM IR E10%IERL )L 0.70 0.10 1.9 0.010




